Distributive Property
Simplify using the distributive property.

w(4w+2)+ 3w 12h—2h(-8h—5)

—t(2t +3) + 6¢ 3x—4x(-7x+9y—2)
21(=3t+5) =5t ~TW(=5—4y —2w) - 10w’
—3z(-4p+62)+7p HTn-9p—=3)+4p
10+5(6+7p) 52 —8¢(21 +4q)
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Distributive Property

Simplify using the distributive property.

w(dw+2)+3w
=4w* + 2w+ 3w

= 4w’ + 5w

—t(2t+3)+ 6t
= 2> —3t+ 6t
= —2¢t* + 3¢

2¢(=3t+5) -5t
= —61° +10f —5¢
= —61> + 5¢

—3z(-4p+62)+7p
=12zp-18z°+7p

10+5(6+7p)
=10+30+35p
=40+35p

12h—2h(-8h—5)
=12h+16h* +10A
=22h+16K°

3x—4x(—7x+9y—-2)
=3x+28x" —36xy +8x
=28x" —36xy+11x

—TW=5—-4y —2w)—10w’
=35w+ 28wy +14w” —10w’
= 35w+ 28wy + 4w’

4(Tn-9p—-3)+4p
=28n—-36p—12+4p
=28n—-32p—12

5t* —8t(2t +4q)
=5t —16t> —32qt
=11 -32qt
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